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(1) & wo7 Hfwma #)
(i) 957 BHE 1 § 4 7% TGS 9 ¥ 1 T4% 9 F R 5 of omafea ¥
(iii) qaqmsﬁommwﬂiﬁmsmmm(7531!2:)
(iv) 97 F1F 10 § 15 0, ¥9% 957 & O 5 aiF amafea ¥1 (150 =)

(V) 99T A% 16 § 20 G, Woid 99T W 7 oi amafrq ¥ (200 9e)

Instructions :
(1)  All questions are compulsory.

() Question Nos. 1 to 4 are objective type questions. Each question is
~allotted 5 marks.

(1) Question Nos. 5 to 9 are of 3 marks each. (75 words)
(tv) Question Nos. 10 to 15 are of 5 marks cach. (150 wordﬂ)

(v)  Question Nos. 16 to 20 are of 7 marks each. (200 words) .
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1) Preafaftd arm & indirect object & TEAH Hfre

"The band played music for the audience™.

(n) The band (b) Played
() Music (d) Audience
(i) TEAAS W yidHe & w0 ¥ 7
(a) Ctrl + A (b) Ctrl + S
© Ctrl + K () Ctrl + P
(11i) mﬁammmammﬁmm;m%%m
LETE X
. (a) To background (b) Bring to front

(c0 Forward one (d) Back one

(iv) Prefifes & & & @ dfas @O w1 wEr T 27
(a) UTTEIE WA (b) fafa s
(©) Uet @ wfvere (d) wEwS TR

v) e ¥ Pl wEw aftwr wm & R ¢
(@) b ®) 6

© 7 @ 8
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Choose and write the correct option :

(@ Identify the indirect object in the sentence.

“Th
e b . : _
wnd played music for the audience”.

(a) The band

(¢)  Music

(b)y Played

() Audience

(i) What is the shortcut key of Hyperlink?

(a) Ctrl + A

() Ctrl + K

b)) Ctrl + 8§

d) Ctrl + P

(iii) Which of the following option can place image behind of all

object / text?

(a) To background

(¢) Forward one

(iv)

(h) Bring to front

(d) Back one

(a) Interpersonal Communication

(b) Written Communication

(c) Facial Expression

(d) Public
(v) How many
(@) 5

© 7

¥ A Y
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Communication

Which of the following is not a type of Verbal Communication?

types of style category provide in writer?

3

b) 6

d) 8
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2 Paa wrdl B ofd wh e & aw AR
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() o9 uRT B @ ®9 mfﬁ{a“rﬁl

(40-30 inch, 20-30 inch) £

(i) 7 U8 THE wz F Th Tt

(Operating system, Database)

-

(iii)wmﬁnm%m___mrawﬁﬂ?igﬁl
(Restart, Shutdown)

.

(iv) R sifew Tzzy & FEE TEHIA A & =3
[
{.txt, .odt) (Al

(v) ¥ wy W & AW A gEAE H A

(Number, Letter)

Fill in the blanks with correct option :

length distance.

(1) Keep your monitor at least
P

(40-50 inch, 20-30 inch) -
(i1) MS Access 1s an example of a . €3
(Operating system, Database) r:.J
Cal
(iii) To shutdown a computer click —____ option. ¢~
s\
(Restart, Shutdown) h

(iv)

File Extension name of the Libre office writer.
(.txt, .odt)

,_ (v) Macro name begin with a
AR (Number, Letter)
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| x5=5

3 wh M Ty
N |
(o) #9 (1) Ctrl + A
(@) HATLTE. (2) vréaay famm
(@) T @ '™
(z) Wi TR (1) o ofee 2w
) R o (5)
Match the correct columns :
A B
(A) Crop () Cul + A
(B) DBMS (2) Hardware device
(C) Printer (3) Image
(D) Natural disaster (4) Libre office base
(E) Select all (%) Eurthqual'c;.‘

g | a|d fofao . 1x5=5

(i) T R B T F 5 g B ¥

(i) frarEn ot atard srfww gren & foe Rk #)

(ii1) ©s qT TOC (Table of (omentu) 9 W & 915, ITW \UIed (Edat)
T8 fhar W wH T .

(iv) mﬁﬁﬁ@iwwhmﬁw

(v) & @ SR & A T S gl 5

Write True / False : .

(1) The shortcut key to run a query is F5.

(i) The employer and employees are responsible for work place
safety.

(1i1) Once a TOC (Table of Contents) is created, it can not be edited.

(iv) Every Macro should be given a new name.

(v) We can not share a spreadsheet.
e -
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9

10

1

5% oftad war §?

What ix Track Change?

ot ol i d wr amg 27

What is Form and Report?

woa waud F® ¥ ?

What is Time Management?

9 e P % R & $8 G & ER B

How we can contribute towards sustainable development?

@ fts ¥ amia & wghEd &0 fafem

Write the steps to group more than one drawing object.

frd %ifsg T ¥ TOC (Table of Contents) wr ¥ ?
What is TOC (Table of Contents) in Libre office writer?

Muitiple Operation 1 ¥ ? 3280 &fd §IHRTI

What is Multiple Operation? Explain with example,

) 1515 B ST 6 UREL AR 3 TT
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14

15

16

17

frtaftea _

(%) 37 o 5
@ gay

Explain the following .

(a) Data

(b)  Information

]

ﬁmﬁmwt?n‘rﬂmw&mm%mv

What i ont;
at 18 Verbal Communication? How many types of Verbal

Communication? https://'www.mpboardonline.com

SuRfear w7 oy oy grEl ¥ wwwEw

What is entreprencurship? Explain in vour own words.

HRYT FEAUT ST AIRaT /o §?

What is Computer Hardware and Software?

TEqTlE o9 X7 b W ERUeE W HY duled (edit) w47 7

What is Hyperlink ? How to edit Hyperlink in Calc.

AT T ¥ ? Tuwe & Import & & v fafga|

What is Template ? Write the steps tb Import templdte.
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s s PR TETC @) Brh ¥ 7 weAT

How many types of Fire arc there? Explain.

Many to many relationship H&. &7 & ¥ ? wagrw wika FEERE!

19
y to Many relationship? Explamn W

What is the working of Man ith

example.

20w ek @ v e 2w AR T K7

How to create a table using a wizard?

¥
| -
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